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M5 =) 2 =3

(LAELT20.6) + (5.040.9) + (2-0E32 g 1) 4 (ZATELT 13.5)

l*1j§1*587x0.1+—J~xo.1x0.1)4—(J*Zgétl*ﬁfx0.9)4—(1L4ﬁ§iLfix1.o)

+(1.265%0.4)}x10m = 152.685m”

——

+(

AERY

[{(V0.62+0.12x2)+(0.9) + ((V3.52+0.07) + (V 0.124+0.1>) +(0.9)
+(2.265) + (1.265) + (V5.52+ 1.1+ (1.0)}x10m] +

[ {0250 40.6) + (5.040.9) + (20532« 1) + (2ATELT 3. 5)

LIELG 0 14+ L x0.1x0.1) + (L IEELE g 9y 4 (24085 g

+(1.265x0.4)x2]1=198.513 m*
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==t

1 | AHZ | Zolmm) | =& | &Zolmm)| 7I& | A | Zol(mm) | =2 | ZZ0l(mm)
Al D13 5870 49 887,630 A6 D22 9600 14 134,400
A2 D13 9600 20 192,000 A7 D13 2190 49 107,310
A3 D22 7000 49 343,000 A8 D13 9600 8 76,800
Ad D19 9600 22 211,200 St D13 9600 5 48,000
A5 D25 2650 65 172,250 S2 D13 800 49 39,200

A= BHOIM A= =5 ctEUCh (Shol 2E5tAlE d&et 2HMXF)
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